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Name

Daily Spiral Review

1. Brad used the compatible numbers
810 + 90 for an estimate. Which
quotient might he be finding?

A 5380 + 59
B 822 + 91
C 277 = 31
D 84 -+9

Use this table for Exercises 2 through 3.

Summer Sale

Regular Price Sale Price
Sunglasses $15.79 $12.95
Flip-Flops $ 8.78 $ 4.89
Swimsuits $46.50 $24.59

2. At the sale, Nick bought 2 pairs
of sunglasses. How much did he
spend?

A $31.58
B $25.90
C $25.80
D $24.80

3. Lucy bought a pair of flip-flops and a
swimsuit. How much money did she
save by buying them on sale?

A $24.75
B $25.80
C $29.48
D $36.80

3-5

4. Draw a line perpendicular to this line.

5. How can you check that this answer
is correct?
34,210 + 0.5 = 68,420

Use these ages for Exercises 6 through 8.

Ages of children at a day-care center:
2,4,4,3,2,2,2,5,3,3

6. What is the mean of the ages?

7. What is the median age?

8. What is the mode of the ages?
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